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�� ���	��

�	��� !�� ���
�� (44� 56� 5)+$ ���� �����
��� ��
�	�	�� ��� �;���������� ��

����������
��� 2����� ��� 
�� GaAs/AlxGa1−xAs����������	��	� �	���	�



�� ���!�� 9�����:������"���� <λF ≈ 40 nm= 	�
 
�� ���!�� ��������� ������

:���"���� <2μm < le < 200μm= ������� (56+$ ��
	�
� � ���� ��� ������

��	�'	���� ����
��
�"!���� >�
������ ���	��	��� ��'�	�� ���
�� 
���� %	��


���	���� �� 
����� 1� !����
�	�� �
�� 
��	���� ������$ �"	8� ���
�� ���

>������������	���� 
�� %	�����	���� ����� ���������
�� '	� ������	
�	��


�� ?�"������ ���	�'�$ ����� ���
�� /�
�
� ����� �������� ���������
����

8�	�������� ������
�� (-5� )*+$ ��� %	�����	���� ��� ����������� �������

���
��� ���
�� �"	8� ��
�� 	�����	
��� ������ ��� ���� �"	8�� '$�$ �� 9���
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�# ���� $
�
���������� ������%��� ��� &'()* �� ���� +�������	��� �,���������

��� 	��� �� -
�������������
�� �� �
"��
�������� ����"��������� �� ����
 .��

�/.0�! &12) �	�� �� ��
"��� &3�)* 4� 	����� ������ ���	 ���� �
������
���
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� ���� 
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���.������ ��	 	�� ���
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� ��

����� ���* ����� 	
� 6�����	�� 	�� ���	�� -
�������� 
�� ����������	������

�
�	�7���� +��%�	��� ���� 	�� �
�	�������� ��� �� ���* �*( ��� ������� ��	

�� �������� ��� ��������"������
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 ���� 8�
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9�� �����* -������ ���	 ��������	
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���.�����
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�#���� ��� �� ���* �*( �
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�#���
�����*
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 	�� �����������
���� +�� �
�� ��	 ���� �
���� ������ ���	 �;���������	

2*< = &'( '1)� ��������� �
�
 6���"
������� �������� 	�� .��������* -%��

5� ���	 ���� .��������������� ������ >��� �
 ���#���� +�� 	�� ������������

�����#7�� ��	���� 	�� ���������� #7� 	�� >���%�	� �
 ��������"������
� ���

6��#7���� ������ �
�	��
���� 	�"���� &�<)* ��� 6������ ����� ������� ��	��

�
�����	�������� ����� 	
��� 	
�� 	���� 	�� �%�
����� !������� 	�� 	��������
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�������� 
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���� 	�� ���������� 	*�* 	�� 
������� #���� @���%��� le ���,�� ����* ���� ����

���� ���,���� +�� le �
�� 	���� ����� ��,?���� ����
�	 	�� ���� +�� 	��

/���A%��� �������� ���	�� 	
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�������������	
����� 
�		���������� ��� ����
��������� �� ����

��� ���"����������
���� �� ����� �
���-������������� �
� ����� "
�
�����



�

����� ���	
�� �
� ��� �������� �� ��� �����

En� = En +
�
2�2

2m∗ �����

��� ��		�������� � = (kx, ky) ��� ������� �� ��� ������ ��� ��		����������

�����  ���
��� ��!�� �
� ��	����� "��#$

ψn�(x, y, z) = ξn(z)e
i(kxx+kyy) �����

�
��� ���������� ��� "������� ξn ��� %�
���������� �� &'(������� ��� ���

������ ��		�� ��)�*��������� ��� ����� �������� �� ��� ������

���  ���
��������� ��� �# ���+ �����
�� �
� ��� )
�
��	����� ���)������

��� �� ��	�� �
� ,���� -���
�� �$

D(E) =
gsgvm

∗

2π�2
���.�

#�� gs ��)�� �������
�/� �
� ��� +�
� ��� -)�����
����� �gs = 2 �
� �'

+
0�'1�������������� ��� gv ��
		�/ �������
�/� �
� ��� 0�&
�	 ��� ���
���'

��� 2��������
��#���#
 �gv = 1 �
� +
0�'1��������������� ��� "��#�'�������

EF = μchem − E0 ��� ��3����� 
	� ��4����& ��� �	��������#������ 5������
	�

μchem ��� ��� 6�
���������� ������� E0 ��� �����������  ���
���� ��� -���*�'

��� ����� ���+� �
#�� ������ ���� ��� �	�������������� &�

n2 = D(μchem − E0) = DEF ���7�

��� ������	�

��
��
� λF

��� "��#�'��		��	*��� λF = 2π/kF ��� ��� ������	��'��		��	*��� ��� �	��'

������ 
� ��� "��#�'8
���� %�
���������� 
������� ��� +�9:� ���� ��	��
��!

���� ��� 2*������
	�� ����	�����
� ������ &� λF � ����� ,����� 
��� -/���#�

#�� ��
�
������������� +�9:�� ��� 10λF �##�� ���� %�
���������� 
��������

�9����� ��� "��#�'��		��	*��� ��##� 
�! ���� ��� �	�������������� nd �� ���

��� ��#������ ��� �	���������
���� ���� ���9��� �
��� ������� ���� 0��*�'

������� ��� �� �� ������ ���� �
� ���� -)�����
����� ��� &��� �� ��� �4�������

;
���'<*������ $

• d = 3 : λF = 23/2( π
3n3

)1/3

• d = 2 : λF =
√

2π/n2
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• d = 1 : λF = 4/n1

��� ������	�

��
��
� ���� ������ ��� ��� �
�������������� ���� ��

�

������
�� �������� ������ ������ ��� ! " !# 

��� �������	 ��
 ���
�	�����
���

��� $�����������%��� τq ��� ��� ����
��� &��� %������� ��'��������'�

�����

�
��������� (��������
������ )�� ����*������� (����� ��� +�%�����
 %�� $����

��������
��
� ������� ���� lq = vF τq vF ��� ����� ��� ������,���������
����

��� �
�������� vF = p2EF/m
∗ (���� ��� lq ��� ����
��� -������ ��� �
���

������ �� ��� ����������
�� ������� ���� �
������� 
������� %� ������ ���

$�����������
��
� �������� .����� ����� ��� /���'���
���� ��� ��� 0���
��

��
�1����� ��� ������ ��� (���������
 )�� +�������
 ��� ����� ,��������


��� ��� ������ �1− cos(Φ)# .���� (������
 ��� ��� (���������
 Φ '���� %��

0���
���
�1������%��� τ ����*
 �
� ������(����%��� ��%�������# ��� �
��������

����
��� '���� 	�

��
� le ��� ��*����� �
� le = vF τ ��� ���

� ��� ����
���

(������ ��� ��� ��� �
������ %������� %��� ������� (��������
������ �,��2�

	����
 (������
# %�����
�
� 0� ��

� ����� %�������������
�� �
��������
��

��� 
�
� le = (�/e)μ
√
2πn2 ��� �3������ 	���� ����� !��, �� ����� ,�-��

�������������� ��� ���'�� 4����������� *���� ��� le = 8μm ��� $�������

τq/τ �������� ���� ����� ��� 5�
�)��% )�� )������������ (��������������� 

�� ���� .����� ����� τq/τ ≤ 1 ���� ��� ��� ,�-���������������� ��� ���'��

4����������� ��� ���� �3������������ τq/τ ≈ 0.1 ��� ������(����%��� '�

�

������ ��� ��� /���'���
���� ���� ��� �
�������������� ������� ��� �� 
�
�

τ = m∗/(e2n2ρxx(B = 0)) ��� $�����������%��� ���� ��� ��
'� )�� ρxx(B)

��� ��� (�������)��������6�%�

������� �������� ������7 ������ ��� �8�����

)� ����� m∗ 

��� ����������� ����� lB

��� ��
��������� ��
� �������� ���� ���� /��
�����
�7 
������ ��� �����


���� -��������
 ��� 	�

��'��������� �� ��
���'�
� ��� ��
�������� /���


� ��
��� ���� %� lB =
√

�/eB7 ���� ���������� ��� +����� ��� ,����%������

��� ����� 9������������ ��
���'�
�� ������ ������
 ��� ��� &3�
�����������

rc = kF l
2
B7 �
�� ��� 5����� ��� ��� �
������ �� ����� ��
���'�
� �
�������

���������� ���� ���*
 ������ )��������� ,�:2� ��� ��� &3�
�����'��9���%

ωc = eB/m∗ 
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��� ��� 
�������� -����
0����� �� �����

�����1����
��� ��� �� +", �� ����� 1�&��&�1�&����
����
���
��( &�� 2�0( �%3 (

+", !����� ����� �����1����
��� ��� ��� ��� -������ �� +�, ��������
 �����(

4�� !
��� 5��6
 ��� 7��
��
 ! ��� 7��
��
 4( 4�� .�����
��� Rxx ����

�����
�� ��� 7��
��
�� 3 ��� ) ��������( 4�� .�����
��� Rxy ���� �����
��

��� 7��
��
�� ) ��� % ��������(

E

D(E)

E

D(E)

hwc
hwc

2gmBB2gmBB

(a) (b)

&""������ )(%* ���
�������

� ����� 8��"� �� 
�������� -����
0���( +�,

7����� /�����* 4+�, ���������
 ��� /���
��� ��� �������� "���"
 �"�� ����� ����

���
( +", ��
� /�����* 4�� -�9��� �� 4+�,� ����
� �� ��� :��������� ;������

<������ ��
=���� ���� ����
 >�����
� ��
 4+�,?� ��
����
( �"���� ��
 ���

!@����
��
��� "�� 
�
�� /������ ��0��
�"��( A��( �%B (

C� &""( )() +�, ��
 ���� D��0
��@���
��������� ��� �����
�������� .��



��

������	�� Rxx 
	� ��� ���	��������	 
�������	�� Rxy ��� �
	����	 ��� ���

����	�	 ���	�������� �	 ��	�� �������������� ��� �	 ��� �	 ��	�� �����

���������
��
� ������������ �������  ���� ��!� �� ��	���
��	���	 
�������	�

��	� �"#�$�������!�� %� �������	 ��� 
�������	��& ��		 ��� ������'��� # �	 ���

	�� #����!� �����& �� ���� ωcτ > 1 ����� #�� ����	 ������	 ��� ��� 
�������	�

�	 ��	 ��	��� ����!� (
��� )�� %� �������	�	 �����	 ��� *�
�	������������

%� �������	�	 �� ��!�	��� )�� 
������	 ����� ��	& ���� ��� #����!�� ��� ���

	�	 Rxx = 0 ���� ��� ��	 +�����
� ��	���	��	 
�������	��� �	 Rxy ������

,-��� ���� ��� .
�	��	������-��� �� ��!�	��  
�����	�����	 /0�1� �2� ���

,���'�
	� ������ ,-���� ���� 	
	 ��	  �������	���	���� ,������	�	��� �� ���

����	�	 ���	������ 3
�	��	��!��	��!� �����!���� �����	� )�� *!��4��	���

����!�
	� ������ ��!� ����� �����	�����5�	

[
(	p+ e 	A)2

2m∗ ]Φ(	r) = EΦ(	r) �6�7�

)���� ��� 	A ��� 8�����$���	����& ���!��� ��� ��� 9�	��
�,�!�
	� 	A =

(−By, 0, 0) ��	
� � ����� ��� 94�
	� ������	 ��!� ��� ,	���������	�����

Ej = �ωc(j + 1/2) �6�:�

j ��� ������� ��	� 	��2���!�� ;��� �(
�� ��	���!������	�� )�� ;
��'	�� ���

�����	 ,	�����	 �����	 ��� 9�	��
�(����
� �� ��!�	��� )��
�!� ���� �
!�

��� ;
���	����!��� ���'	����  


D(E) =
gsgveB

h

∑
δ(E − Ej) �6�<�

=� ��	 ���� ��� �2��
	� ��� 9�	��
�(����
� �	 
����	 ���	�� ��!� ���

)�>	����	 ��� �2��������� ν

ν =
gsEF (B = 0)

�ωc

�6�0�

)���� ������ ��!� ��� #���	�
	� �2� ���$���� ���2���� 9�	��
�(����
� ���

gs = 2 �*$�	�	����
	� �	 ����� ν = 2j& ���� �� ��	� j 9�	��
�(����
� ����

$���� ���2���� )�� ������,	����� ��>	��� ��!� ����� ��	�
 �	 ��� �����  ���!��	

 ��� �
���	�	��������	��	 (����
�� )�� =	����!����  ���!��	 �����	 
	� ���

������ ���$��!��	�	 ������	 *?���� ������� �	 ��� 8���������
	� ��� ������

�4�����	 9�	��
���@��� �
�!� *���

	� 
	� +���	����A
��
����	�	� B	 ����



��

��� ��� ��	 
����� 
���	 ��� ���
�� ��	 ωcτ < 1 ��������	� 
� ����	 ���� ���� �����

��
���� �������
� �������	��� 
�� ���	��
�
���	� ��
�� ������ �����	 ���� ����

���� �������	��� �� �����	�
������  �
���	��
 Rxx! "��� 
�� �����#
������

���� $�
��� 
�� %����	���
�� 
�� ��������� &�'���� 
�����(��	� ��� %�����

	��	�� ����� ��� '����	(�
�� ������	�� &�'���� ��� ��	 ����� �)*#+����
�� ���

*�
������ ��� 
�� %����� ��	 ������� 
����

2j =
gsEF (B = 0)

�ωc

=
hn2

eB
���,�

-���	 ��� �� 
�� *������ �.����� %����	���
�� �ωcτ > 1� ������ /���

��� ����! 
��� 	������ ���� 
�� ��
�#%�0��� "��	�� ��
 �� �0��	����� *����#

��� �� 
���� 
�� ���	��
�
���	� ���1��		 '�����"��
�	� ����	 �.���� ����


�� *������� ��	 Rxx = 0 �� 
�� %������ ����(�	 "��
��� 2� 3���"�
���	��


Rxy ����	 ���� �� 
�� +���	��� '�� Rxx = 0 
�� /�����
��� '�� 4���	��#

3���#+��	���� ��	 Rxy = h/(2e2j)! ��"������
 '�� ����������� 3���"�
��#

�	��
 Rxy = B/(n2e) ��� 5������ ��� 
�� �����
���	�� *������� ��	 Rxx = 0

��
 ��
������ 3���#+��	���� ����	 �� 
�� 6������������ '�� ���	(�
�� �� 
��

7��	�� 
�� D(E)#%�0���� ����� 6������������ 	��		 
���� �(������� +�	��	�#

��8��	��	����� ��� 9:�! :;<� =��	 ��� �� ���� �.����� %����	���
���! ��#


��� 
�� 71����	��	��� 
�� 6��
��#&�'���� ���������� ��	! 
��� ������ ����

���� 4���	��#3���#+��	���� ��
 7
3#%����� ��� ������
�� �������	���� ν�


�� ������
�� �������	�� ��
��	�	! 
��� ���� 71������	��� 
�� 6��
��#&�'����

(ν + 1)/2 '����	(�
�� ����	�	! 
�� ��
��� 
������ ���� ��	� ����� 
�� /���>��


�� 7
3#�������	����� �� *������ ωcτ < 1 ������ ���� "��	��� +�����	�� 
��

7>�	���! "�� ��*� τq ��
 m∗! ���	����� 9:<�

��� ���������� �� 
����� /������		 ����� ���� ����� ���������?���� ��� 
��

2�	������� 43
� ��� ����	������ 43
 9@A<! ��� 
�� ���� +��	���� ��� ����#

���	���� ν ��	 ��������� ��	������� ������ ���	��	��! ���� ���� ��"(��	! B�
���

����	 "��	�� 
�������	 "��
��� /�������?��
 ��	 ���� �� ��������! 
��� 
��

�� 43
 ���	��	��
� C���(�	��� h/e2 ��� '��#-��	����#-���	��	� RK ���	�����	

"��
�

RK :=
h

e2
= 25812.807Ω ����D�

����� "��
 �������
 
�� ����� %��������������	 ��� 
�� ����� ���	������


�� 72#%�?������	�� ����	�	 9E@<�



��

��� �������	
���� ��	 �������
������������

��� ���	
�	�
��
� �������	�
 ��	 �

��
�
�	 ��
 ��� �
�	���

 	�
 	��� �	

��	� ����
�	� ������� ��
 ���	����	���	�� ! "���� ����
� ��� #
��
� ��
 $	�%

�
����& ��� ��	 "
��
 ��
�
& �� #�
���� ��
 '�
��%(����	��	�� λF �����	& ��

���� ���	
����
�	���)��
� ���

�
�	! "��� ��
 ��
 *�
���� ��
 λF ≈ 0.5 nm �
%

+�� ���+��
���
 �� 
�������
�	& ,����� �!#! ��
 ���
�

�		�����
������	 ����	

������
 +�
��	 -�.! '�
 /������
�
 ��
 
0������	 '�
��%(����	��	��	 1�	 λF ≈
40 nm �
���	 ��	� 2������� �	 �

��
�
��
�	������������
�	 ��
 ��� /�
�
����	�

1�	 �

��
�
�	 ��
 �

��
�
�
�3�	 �	
�
���� 1�	 � μm ��
 2�
����	�! /��4�

+�
� ��� ��
 (��� ��� ����

�
� ��� ��� 5���%/�
�
��

��
�
 ��
������
�)�	&

+����� ����	 ��	� ���	
����
�	� �	 �%����
�	� ���+���
 �6��! �!� ! "���� +�
�

��� $	��
���� ������)�	 ��
�� +��
�
�� 7
��	 ��� *�
�
���� -�8.& ���������	

1�	 ����
%��
�� -9:& ;9. ���
 <=���
��	 ��
 ��

�		�	� 1�
�������	�
 #�
�����

�� $���

�	�	��� ->:.! "�� ��
�
� *�
���� ��	� �	 �����
 �
���
 2�
+�	��	�

�	� +�
� ��	���
 �	 6���
�� >!> �
���
�

! $�	� +���
��� 5
�3� ��
 ?	
�
�����%

��	� ��
 �

�	 1�	 ���	
�	�
��
�	 ��
 ��
�	 @�	��! /��
��� 

�)
 ��	 ����%

���
+���� ��� $�	
����	� �	 �
�� ���	�
��	! #�� ��)���1�	 "
��
�	 ��
 ��� @�	��

��� "
��
�� 1�
��������
 ��
 ��
 ��

��
�	 �
���	 (����	�� le �6��! �!�!� !

"���� ����
 
0������
+���� ��� ��	�
 5���%��5���%/�
�
��

��
�
 �� #�
����

2μm < le < 200μm ->�.! $� 4	��	 �

���
������ �	 �
�
�
����	 ��� ����

�	 ��	 "
��
+�	��	 �
�

! (�
� ��� "
��
��	�� ����	�
 ���
 ����
 +���	
����

����	�
 ��� ��� ��

��
� �
��� (����	�� ��
���
 ��	 1�	 A����%������
�����	 ��+!

������
�����	 "
��
�	! #�� ��
�
�
�� 4	��
 	��� �

���	� �	 ��	 "
��
+�	%

��	 �
�

& +�� ��� ������
�����	 "
��
�	 ���� 	���
 ���
 ��
 '��� ��
! "��� +�
�

�	 ��
 @�
�
�
�
 ��� ���	
�	��	�
��	
��
 ��BC �������	�
 -9.& +�����
 ��

�����	��	 	��� ��	���
 �����
��

 +�
��	 ����!

����� ������	
��
����	
 ��
��������

"�
 @�	����
%#�

���
%'�
�������� �@#' -��& :>. ��
 ���
 ��
 �����	�
 ��

������
����� �
�	���

�=��
���	
� +�� �!#! ��	 �
�	���

 �	 ���	
�	�
��
�	

�� �����
����	! $� �����	 	�	 ��� 5
�	����� ��� '�
�������� �����
����	

+�
��	 �1��! -��& >�& >;. ! #��� @#' �
���
 ��	 ��	 @��
+�

 ��	�� �0�
���

��� ��
 �
�	�������	�+��
�����	�������
 ��
 $���

�	�	! "���� �
���
 ���� ��




��

�������	
 ��
� ������ ��	�� ������������	 ��	��� �������	 ���� ��	�����	� ���

���� �����

���� ����� ��	�	 ��	�� �	���	���	 ��	��  �� ! ��������	 !���	 �	� ���

"��	� �����	����������	�������� " ���

I =
2e

h
× TMVSD #����$

%������ ��� |e|VSD ����� ��� &�'���	� ��� ��� �����	 (���	����� μchem,l �	�

μchem,r �	 ��	 �����)���� �	 ��	 *	��	 ��� ��	��� 
�
���	 #����� ���� ��
$�

&� �� ���+��  �	 ��	 ,������� ��� ��	��� -��� ��� ,�	�����./�� �� �
���

G =
I

VSD

=
2e2

h
× TM #����$

&�� /��� �-� T = 1 #������� ��	�� ��	� ������	
$ ��
��� ��	�	 	���� )��.

�����	��	��	 0�������	� ��� �+�1
 ��� ��	������������	� �������	�� ����

�	� Rc = h
e2

1
2M

����+
�� &�� 2��3��	
 ��� ��� ��� ,�����	
������3����	 ���

,���	
���+
�� �	 ��	 �����)���� #����� ���� ��
 ��	���� � �	� �$ ���-��.

���-���	 ����� 4��-��������
�  �	 ����5 ��		 ��� ��� 0�������	� ��� ��	���


�
���	 ������

RKanal =
h

2e2
×M

1− T

T
#����$

&���� 4���������	
 �-� ��	 /��� ��	�� ����.(�	��.!����	
 ����� )�	 4-�.

����� ���� 	�	 ��� ��	 /���  ��  ������	 ��	�����	 ���������� &���� ����������

4-������ ��� ,�	�����./�� �� �	�� -��� ���� ��	����� #�	������� ����� 3 �	�

6$ ��  ���� ���� �	� �� ��
��� ���� ��� ���� ��� ��	���� 3 ���

Ip =
2e

h

∑
q

[Tqpμp − Tpqμq] #���
$



��

��� Vi = μi/e ��� Gqp =
2e2

h
Tqp 	
���� 
���

Ip =
∑
q

[GqpVp −GpqVq] ������

Tqp �	�	����	� ��	 �
��
��

���
���

��	�������	�� ��� ������� � ���� ��

 ���	��	 !����	�������	� 
���	 	�� "��	�������������� �#��	� ���� �	$��	
�

�	
�	�% �	�� ��� 	��	 &���'(	��	�
�	 ��	 �� )��� ��� ��� �������� *��

	
�+�� ��	
 ��
�� ��	 ,	�������	�

I1 = I2 = I3 = I4 = 0 und IS = −ID = I ����-�

���� �	
 .�
�� /�	

� ��� . ���� 0 ��� �� �	� �������	� �'� �	
�	�


�
����
 .�������	� �	�	

	�� 0� ��
 ��	 .�������
��1	
	��	� �	
 �������	

��� ,	�	����� 
���% �+

� 
��� ���	� VD = 0 
	��	��  2
 ��	 �������	 �'�

	
���� 
��� 
���� ��
 �	�	

	�	 "��	����� ��

Vp =

∑
q �=p GpqVq∑
q �=p Gpq

����3�

4���� ��� 	��	 (	��	�
�	 ��� - �������	� ��	 �� )��� ������ �	�	��� �
�

�� ���� 	
���� 
��� �	
 ������������	 5��	

����

R12 =
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GSS −GS1 −GS2 −GS3 −GS4
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−G2S −G21 G22 −G23 −G24

−G3S −G31 −G32 G33 −G34

−G4S −G41 −G42 −G43 G44
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#������	�	 ���
���������� %�
	������� "�� #0'�����	�� ��� ��	�� #�	���&%-

������ ��	� �	 ��	 1��� 2�34 567 �� (	��	� "�� �0'�����	����� 1���������	
 ���

.�����
���	
 ��� -�������	 +��� ���� ��������4 �	��� ������ ��	 ���� '�������

��� �"#$ �	
���
� +���4 ������ ��� �������
	������� ���� ���	� �!���
�	
�&

��
	��������	
 �������� ���� "��� ��� ��-� �8� ��	�	 ")&���� �� ��	�� ���� 9�	

: 3 / ��� ����� "�	��� +��� ��� ;���� ��� ��� '��������	 ����	�����	
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��� ���� ���!������ ��� '��������	 ��	� <��'�	�	�� ��� ��	������

��� �"#$ ���
������� ���� ���= ����� "������ ��
��� ���� ��	� ,���������	


��� -������� �	���	
 ��� Bz&����� ����� ���= ����� "���� ��� ��� 	���� �� 
��>��

<�''+�	��� �θ < 4◦ ��� Be = 8T� ��� ;���� ��	� ?	����	
 ��� -�������	�@��

	���� �� ��+����	 2�37� /)'����� /��A�������	 ��	� �	 ���� ���= ��� 
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� ��� ������ ��� �����	�������	 ��� ��	�� �����	�	 ��
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���� ��� ����  
!"� ��� #$%��&'� #��(�������	 ��	�� )������	� �*� +���&'����	

,���� ��� '���
�	�	 -������ ���� ��� ����  .
"� �&� /���&'����	
 ��� �0

���&' ��� '���
�	� ��
	������� ���� ��� ����  .1"�

����� �����	
����

� ��������� ��� ����	����

0�� ��� ��%�����	�����	 )����
�	
 +�	 ��
	����&'�	 0�������	 ��	���� ��	

����� ��	�	 �������
	����&'�	 -���2 ��� ��&' ��� ��� �����	����34&'� ��5	6

��� �	� %������� ��
	�������� 7���� 8�� '������ �	����'�	�� ��������� ��� ��		

��� ��
	����&'� 0�������� 8�� �	��$���&'� -����� �*� ��	 ���&'�� ��
	����&'��

��������� ��� 	4'���	
�7���� ���&' ��� -����� ���
 
�
���	� 8���� ��
��� ��&'

��� 9���7���������� �� FWHM = 2
√
d2 + dh� 8��� ���
� ��� ��	�	2 ����2 (�

������ ��� �8): ���
�2 ����� 
���	
�� 7��� ��� �������� ��%������ ��� ��
	�6

���&'�	 0�������� ;�� �	����	 ��		 ���&' ��	�	 ��&����	 -��� ��� ��������

��%������ ��� ��
	����&'�	 0������� ��'<'� 7����	� 8��� 
�'� (���&' ���

��	�� 
�<=���	 9���7���������� ��	'��� 8��� ��� �	 ���� ���� ��� ���
��������

8�� �	��$���&'� -����� �*� �7�� 0�������	 '�	�����	�	���2 ��'� �7�� >�	��	

��	�� �������
	����&'�	 -���� ���� �7���� �����	�	������
�	��� -����2 ������



��

������	�
��
�� ����

Bz(x) =
μ0M

4π

(
ln

(
(x+ �/2)2 + d2

(x+ �/2)2 + (d+ h)2

)
− ln

(
(x− �/2)2 + d2

(x− �/2)2 + (d+ h)2

))
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 � !�	 	 �� ������ #�
�


���$��� %�� ��� 	�
 &�������

��
�� '�	��� (���� �!� ���� 	�
 ������	 �%��

����� 	�� )�

��
�� � ����!* 	�
 ��� ���
�
�� μm (�!� ����� &��+!�� ���,

-�� ���	�� )�

��
�� �����+!���� ���� (�!�� )�� ����.�	�� !���
���� 1μm

(��/�����
�� ���� 	�� )�
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 #���������
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	 ���� %��������� $�� 	�
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�-&7 ���������
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������

-�� #���������
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������ 	��  �

��������� ���0����� 	�� .!
�
�� �����

������ )� ��	�� (��� ��� ����� 	�
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 ��������������
�� ��������
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	�� �59* 6��� -���� %�
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 ����%�	�
����	 ��������* %�����
 	!
�� 	��

���(
����� ���������� ���/������ ����� ����� ���%��	���
%���� ���������

#��������	/
�:�� < Bz > �� ����� ����(
�!� $�
!
����� %�
	� -�
 ����%�	�
�

����	 �
���� ���� ������	�
��
��,

Rxy =
α < Bz >

n2e
������
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  �(��
 α ��� ���
��� ��� ��

�(�!
��(��
* 	�
 	�� &��+0��� 	�
 #������
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����� 	�� ����(
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� �
��� ;���.��� 	�
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��

��� �!� 	�� ���������� ����%�	�
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0�(��������� n2 ��� 	�� -����� 	��
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���������� -�
 ��

�(�!
��(��
 α %�
	 �</�����
%���� �� �������������
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���� ��� 5 ����������� -��� 	��� �.!:� ����� ��
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W
(a) (b)

x

y

x = 0

B > 0B < 0

B = 0

�������	
 ���
� ��� ������ ��� ��
	������������ ��� ��	�� ����	
 ��� ��� ��

 ��!�� "�����#	�	��!	$ %��&!� '�&! '&!��	
�	�(���
 �	���	
 ��� )�*���'����

��%�
�$ �	 ��� ����� ��' )�*����'�  ��'� *#�� ��� "�����#	�	��!	 %��� ��'

'	��� #���� �����&!	���  ���� �'� ��� ��'������	
'
�'&!%�	��
���� ��� 
�+�

	�	 )�!	 vy �	� ��� �#��	 )�!	 −vy� ���  �� 	������	��
���'&!�	 ,���� �+�

��	�	  ��!� ��� ��	�� )����� W = 500 nm ��� ��	�� !#�#
�	�	 ��
	������

B/B0 = 500 �'&!%���� -�	���� ��� B0 ≈ 2.64mT �	� ��	�� B/ − B�-�#.�

�%��/� -�	���� ��'
�'���� �'��  �� "�	'��� ���
� ��	 0���'����	� ��
����

��� "�����#	�	��&!�� �+� ��	 0��	���'��	� �1��� �	� ��	 �+	���	�����
'��	

2�'��	� �1�3� �� *���� ��' B/− B�-�#.�'� ��' 4��� 5367

��� 8��#&! 
�(/�� ��' ��� ��
	���'&!� 9:	
� lB �'� ����� ���
 �����  ���� .	�

��	 ��� ���#��	 	�&!� 	�� ��	 '������''�'&!�	 *��� ��	�' '	��� #���� ��� ��	��

�#'���;�	 ��'������	
'
�'&!%�	��
���� vy = ∂E/∂k �
�+	� <��;�� '#	���	

��':����&! ��	�	 	�� =��	��	��&!�	�'&! ����:�����	 *��� ��� −vy ����� ���


��� �#�� <��;���  ��&! ��� >	�������	� ���'�� 
�
�	�:�.
�� "�����#	�	��!	�	

������ '�&! ��	 	���� 2�'��	� ��'$ ;��
���&!��� ��� ��	�� '��!�	��	 ,���� �	

��� 9�	�� ��� ��� ��� )���  �� 2�'��	� '����� '�&! �� )��� ��� "�����#	�	���

'��	�'��&!�� ��' ��	� '��!�	�� ,���� �	 ?�4�&!��	
 ��� �'��!� "�	'��� ���� ���
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	�������#��	
 &� ��	�% ��
	������
�����	��	 %��

��	�� �	���!"�	 (���
�	
� 9% ���
�	��	 �����	 ���"��� ��� �"�������!"�	 ��
���

	���� &�% 6��	�#��� �	 � �:� �	� �	 ;��	��	���"��	 %��  �� ���#��!"�	

'����	�

�� �� �� ����� 	
���
 	��
 ����� ���� 	��� ��� ��
� 9	 ��	 
�	�		��	

�������	 '��� &�� (#�	�7����������	
 +�	 �������	�	 ��� 8��'�	��	
 +�	 %��


	����!"�	  �##����������	 ��� ��� <���=�!"� ��	�� � �: ����"� ���� ����

���� �	� ��	�� �+�	����� &����&��!" �	
���
��	 (#�		�	
 �	 ��	 %�������!"�	

���%5 ��� ��� ��������	 ��)	����5 +��
��!"��
�	�  �� ������+������ %�� ��%

7���	����+������ > ��� �	 ���� ���� ��� 
�&��
��  ���� '��� "��� ��� "?�����

%�
	����!"���������!"� ��������	�(������� ��&��!"	���  ���� ��		 ��� 7������



��

(a)

(b)

�������	
 ���
� ��� ������ ��� �	���������	 �������� ��� ��	�� �������
	��

������	 �������	 ��� ��� � 
�������� ��	� �!�		�	
 " �������� ��	�� �#$%

�	����
�	� ��� ��
	������!��&� Bz(x) ��� ��
	�������	 �������	 �	� ��� �����

������� '���	���� U(x) �� �#$%� ��� (��� )*�+

�������	
 ����� ,��	�������	�-��������	�������� �.� $������	�	 ��� �!�	 �!

�
�!�	����� /��0�� �	� �!�	 ��-	 ������
���	�� /��0�� ��� 1�	����	 ���

$������	�	�	��
��� ��� (��� )*�+

�����	
 �	�-���� ����� ��� ��
	��������	
 ��� 1���� ���� ��� 2	����	
 ���

�!�		�	
 �� 1��� �������� -����	� $� -���� 3����� ��	 � ����� '��������

���	�
��� 
���	��	4 ��� ��	�� /����	����	 ��� ���� ��	�� ��5����������	



��

���������	�
��
 ��� ������������ ��� �	����
��������
� �
���� �� �����	
��

�������� �
� ��� �	��� �!����� "� ����� ���� #����� ���
 $
%&'


��������� $
$�( )������� ��� *�����
� ��� *�����+������ #�� +�������� ���

������ ��������������' �� ����� ����� ��� ����� ������ , - $�� �� ./�

����!������� 0��������������� μ0M = 0.1T #���!���"
���'1 μ0M = 0.5T

#������!����'1 μ0M = 1.0T #��	������'1 μ0M = 2.0T #���� ������!����' ���

μ0M = 5.0T #��	�������������!����'
 ��������� ��� ��������( � = 400 nm1

h = 120 nm ��� d = 95 nm
 2$&3

��������� $
$%( )������� ��� *�����
� ��� 0������������� μ0M �� ����� �����

��� ����� ������ , - $�� �� ./� ����!������� *�����+������� EF = 1.5×E1

#���!���"
���'1 EF = 6.5 × E1 #��	������'1 EF = 12.5 × E1 #������!����'


��������� ��� ��������( � = 400 nm1 h = 120 nm ��� d = 95 nm
 2$&3

��������� �	 ��
 ��


� ���� ����� ��� �����	
�� �
� +�����
��� ���!�

����� 4���� ��� ������,�����+���!�����	
������� ��� ����� ��������!���



��

�������	

��
���
�
� ��
 ��
� 	�� ��
��� ���� ����
������ ��� �����
����

��
 �	
	����
 ��
 �
	���
����� ��
 ��
��� ��
��� ��� ��
 !	��������
���

��� "�

��	���������� ����� ��
��� ����
������ #��
��� $����� ���� %�����
���


����	�$�� 	�� �������� ��
 �	
	����
 μ0M ��� EF � ��� &����	������ ���

%�����
�� 	�� �������� ��
 ��
��� ��
��� ��� ��
 !	��������
��� ���� �� ���

������ ���' ��� ���� $� ������  � ��
�� (����� ����� )���
������� ��$*��

���� ��
 $��
������������� +���,���� ������ "*
 ��� -����	�$�� .�
	����
�����

����� ��
����"*�
��

(a)

(b)

 

 

−800 −400 0 400 800

0.05

0.1

0.15

0.2

0.25

0.3

0.35

0.4

543210-1-2-3-4-5

x (nm)

E
 (

m
eV

)

10010-210-4
10-6

G (2e  /h)2
10-8

1
2

3
4

5
6
7
8
9
10
11

log[LDOS(eV   nm   )]-1 -1

−3 −2 −1 0 1 2 3
0  

 

data
fit

E (μeV)

G
 (

2
e2

 /
h
)

level 6

−10 0
 

 

−0.6 0

1

Γ = 0.15μeV

q = 0.19
0

0.8

0.4

level 9

Γ = 4.7μeV

q = 0.024

Γ = 0.1μeV

q = -0.48

level 11
0

0.5

1

E (μeV)
10

E (μeV)
0.6 1.2

��������� ����/ 0���
����� &����	������ "*
 ����� �	����������� �
	�� ��� ���

�� �	���������� �������	

��
� ����
�	�� ��� �
	����� 1	2 ��� %�3& ����	��

��� 4�5 	�� �������� ��
 ��
��  ��
��� EF "*
 ���� �����	��� !	��������
���

��� ����� .�� μ0M = 2.1T� ��� ������ %����� �����
����� ���  ��
���.�
�	�"

��
 .��
 ����
���� �
	�������� +������� ��� 6	

��
�� ������ ���� +���,���

	��� ������ $� -����	�$�� �� %�����
� 1����� ����� &����2 "*�
��� 1�2 ��	�7��

������
 %�����
��
����	�$�� ��
�� ���	����� ��� ��
 �	�����
��� 8�9:� ���

-�"� 8�;:�

�� �� ��� �	
�
�/ ��
 �
	�� ��
�� ���
 ��� ����� �	
	��������� �������	�

��������
�� �*
 ��� �������	

��
�����
� ��� �����
�� ��� 	�	�7������ ��
�

��� ���� .�
������ ��
���� 6�� ��� )���
��������� ��
��� (����� 	��� ���



��

 

 

20 60 100 140

 

 

50 150 250 350

 -200

0

200

 

 

0 10 20 30 40

 

 

0 0.4 0.8 1.2

 

 

40 80 1200

 

 

20 40 600

-200

200

0

-200

200

0

-100

100

0

-100

100

0

-100

100

0

0 400 800-400-800 0 400 800-400-800
x (nm) x (nm)

y
 (

n
m

)

LDOS ( eV    nm   )-2-1

state 1

state 2

state 3 state 11

state 8

state 6

y
 (

n
m

)
y
 (

n
m

)

LDOS ( eV    nm   )-2-1

�������	
 ����� LDOS(x, y) 
�� ��� ���������	����������� ��� ���� ���� ���


�� ����������	� �������	��
��	� ���  �
� !"#$�

%�
��	�����
�	��	 &���'	�� ����������( ��� 
�� ��� &����	��)����	 ���  ��

��	�	%�	 �� *���+��� 	��+�	��
 ��	�� ,���� 
�	� ��	( ���� ���� ���)���� �	���


��	������ %+�����	 ��	 -�������	 ��������	 ������ ���� ���� ���� ����� ���

����	�	��� .�		��	 �/
���� ���� ,��� %��
� ���� �	 .��	�0��������	
�	 �����

 ���	�	%�	 �� *���+��� ��� ��	)���	 ��� �������	��
�� ������ ���� ���� ���

��	)�� .��� ��� ,��
������� ,��  ���	�	%�	 ��� ���� ��� ��	�� �����%��	 1��

�� ���� ��	 2�����	 3�44 �	 ���� ���� ���� ����	 ��	�	 ��	��5����)���

������ ���� ���� ����( +������ ���� �� ��6����������	 7�����
 ��� *���+�����

����	�	%�	 %��
�� ��� ��� ���� ���
�+'����	  ���	�	%�	 ��� ��	 2�����	

3(8 �	� 44( +���� ��	� �	0����	
�)���� ��� ��� ��	�������� !�9$ ��������( ��

��� :�����	������	
 %� ������������	� ,�� ��
�����	 ��� ��	�� ���	�	%�	

��)�'�� ���� �������( ���� ������ ��� %+���� 1��� �����%� +���( ��� 
���	���

	�	 &���'	�� �	 ��� %+����	 1��� ��� ��	 
��� 0��0�
����	��	 &���'	��	 ���

�����	 1��� �	���
������	� ,�� %�
��	�����
�	��	 &���'	�� ��	� ��  ����	

��	 -�����	 ��� ��)���	 &����	�������� ��	
�� ����� ��	���6 �
 ������ �*,;���

*,;��<(6� �	 ���� ���� 
�%��
� �	� %��
�	 �6��������� �� x = 0 �	
����	��

�� ����)����	� -��������� ��	 =�+���� 	�� ��	 �����	 &����	�( ��� ���� ������(

+�		 ��	� 1��� �����%� +���( �� %��
� ���� ��	 ���  ��=	���� &����	� ����

'�	������ -��� ������ ��	���% �	 ���� ��43�� >	� %+�� ��	� �����	�� ?���� �	

6� �����	
 �	 ��� ������ x = 0( ��� +������ ��� -����� ���	� �������'� +��������

��	 >	��������� %+�����	 ��� ���� �	���������	 �6���� 
�
�	���� =�	�� ��	



��

��������� 	��
� ���
 �� ��� �������� 
��������� ��������� ����� ����� ����

��� ��������� �� ��� �� ���
����� ��� ��� ������� ������
���� ������ 
��� ���

	� ���� ������� �������� ���� ����� ������ ���
 ��� ���� ��� ��
��
�
����

���� ���
 ��� ��!��� ��� �����������
�� 	����
�� ��� ������ "�������� ��

!#���
���
 ������ ����$������ ��� %��$���
 ��� �������� �������� ����� ���


��� ��� ������
�� �����
��� ��� ��
�������
��������� �� ������

������ �� ��	 
���
�� &� ������ '����� ����� ���� (��	��#�" �� �����

���
�� )���������
� 
���
�� ����� ������ �� ��� *����$���������
�� +�� #

��������� ��� +�� ���� ��� ��
����������
 
�������� ��� %��$���
  �����

��� ,���� ��� ������������ ��� �-������ ��� ��� .���������� ��� "�������

��� �������� �� .����� ������
 ���
 ��� 
��������� ������� ��	����
�� ���#

������� �� ���� �������

'�������
 /�/01 ����#2�� � 3������� ��� +�� ���� ��� 
���
���� ��� ���
���

��
���������� +4� Ba
z 5 6 * ��� ��� "������� ��� ��� 
���
��� +��� ����$�������

���
����
���� +4� Ba
z 7 6 *  �$�������� '�� ���� 896:

������� �� ��	 
������ ����� '����� 
�
� ���
 ����� ��
���� ������ ���

,�

�� �� ��� ��� ��� 4�	� ��� 3��
� ��� ���
���� ������
 ��� ��;��������

�� ���
� ���������� ������� ��� ������
 
������ ������� ��� ��� 3�������

��� ���
��� ��� +�� ���� ����� 
���
����� ��� ���
� 	�� ���
� ���
����
��#

��� ��
��������� <'��� /�/0=� ����
�� 	������� ��� ��� �" ��� ���	��# ���

��$$��#>�����$�������� ��	��
� <'��� /�/? <�= ��� <�==� ��� 
��������� ��#



��

�������	
 ���
� ���������� ���������	�	 ��� ��	�	 ������������	 ���	��	�����

��� ��	�� �� �		������ ��� �������� ���  �!� �	���	
 ��� �"# ��� $�	%&

���	 ��� $���� '	��
�� EF ��� ��	� %�	���	�� ��
	��������	
 ��� $���� (�	

μ0M = 2.1T� ��� ����  �	�� ���������� ��	 '	��
��(������ ��� ���������	�

)�* '�	 ��++��&,����	&"���	���� ������ ���� �	� ��	 ���������� ��	
�-���
�

.���/	�� �	 ���  �!�)012*� )�* '�	 '�	3��&,����	&"���	���� ������ ���� �	�

��	 ���������� +�	%��-���
� .���/	�� �	 ���  �!�)012*� )�*  ���4��� ���

$�	%���	 ��� ����
�	�	 $����� ��� (���������	� �����������	� ��� 5��� 6789

��/	��1 ��� ���� ��������	1 ��	� �	 :��	�+��������	
�	 ��  ���4��� 3� ����	

)���� ���
* )�*�



������� �

	
���
�
���
����
 �
�

����������

�� ������ �	
���� 
����� �� ������ ��������� ��� ��������� �������� ���

��������� ��� ����������������� 	���������� �� �
����� ��������� 
��� ���

����	���	� ��� ��� ��	��
������������ 	� ��� �������� ������ ����������

��� �����	
�����

�	�

W
a

c
h

s
tu

m
s
ric

h
tu

n
g

 

(z
-A

c
h

s
e

)

5 nm

20 nm

20 nm

2 DEG

GaAs:Si

GaAs

Al0.34Ga0.66As

Substrat

55 nm

AlAs 5 nm

GaAs 650 nm

Al0.34Ga0.66As
Si-Dotierung

���������  �!" �������	������ ��� #��
������� $	��%&'�� 	�� ��� $��

�

(���� ��� ��� �������� )���������� )����� ! !* � +	� (	�������
��������


���� #�� ����� �� +� (���� ���������������

 ,



��

��� ����	
�	 �

 ��� �
���� �� �����
 �
���	 ��
�� ��� ������������

��	�
��	
��	�
 ����	�	� ����� �	���	 ��� ������������	 ����
 ����� �����

�
������
�	������ ��
�  � ��
��� �

 ���  !��
�"��	� �" #���	�� $ ��
 ��	��


��	
��	�
�� %�
�����	 "�	 ����" ���	��� %�� $& �" ����'��� ����	
�	���
�

()'�� ��� *� �� ��� ��	�
��	
��	�
 ��
�� �� ��
 +��%�
��	)	 ,�'��" �� ��


�
���	��
���� %�� �
��� �
� ���
��� -��'� ��
���	���	� ��� �'��'�	�	
��	�


��	 �� ���� ��. ��
���	���	� /���'��
����� ��
� ��� *0 -���
 "�	 ��
 ���
��'��

	�� �'��'�	������� ����'����� 1� %�
��������� 2��� ��
��� ����� ,
�'��	
'��

���	�
 ��� ���� �
34� %�� '�� & ! & "" ���
�'���� ����� �
34� �
���	 ��'�

��
'� �
����	����	�'����'�� 5�
������

����� �������	
�� 
�� ����������	�
� ��
 
�� ��������

���	��	�

��
 �
�	� �	
��	�
��
�����'�
�		6 ��
 ��� ����" '�� & "" ! & "" �
�4�� ,
�'��

�	
'� ��� -���
� �
����	�6 ��	 ��� 7	��� ��
 /��
	
����� ��
 �������"�	
�� ��

��� *� �� 8��)'��	 �
����	 ��� 9����������'�
�		6 ��
 
���'��
����� ��� ���

��
 #�"����	��� %�� ����������
��������"  ��	��'��� ��
 �
��� �� �:�;6

�'�	��6 1���
������ ��� �1�-����
 ���	��	� ,�� �����
 �
�	�� 9�������� ��


�
��� ��
�� �)�<� ��
 5�
�����
��� ��
 -�
���� ��� =3��"�		��� ��� �
���

�� ��
 2�
�������	 �� ��� ������	�� +�	
��'������� ���
�'�	� �����
 �
�	� 9�����

������'�
�		 ��	 ��
��	� ��� �
�	��'��
 �'�
�		6 ��
 ��'�	 �� %�
��'��)������ ��	�

>�'� ��
 9�������� �" �1�-����
 ��
�� ��� �
��� "�	 
����" �	�'��	�? 	
��

'������������ ���'����4��� �
����	� ���� #��	
���� �" =�'�	"��
������ >�'�

�
����
��'��
 9�������� ��
 ;��
()'�� ��
�� ��� �
��� ��'� @ . "�� ��� ���

��
 A�"��
�	�
 %�� ..B ◦C ��� ��� �������		� �����	6 �" ��� -����
<�" ���

��
 ;��
()'�� �� 
������
��� ����'� �
����	� ��� ,���'���� "�	 ��" =�'�

�8 &*.$ �� ��
 =�'��'������
� ��� =�'���'�� ��	
)�	 
���'��
����� @ . μm�

��
 ���'����4���� ���	�,��� ��"  �	��
��� ��� =3��"�		��� �� ��
 =�'��'��'�	

�
����	� ��� ��
 �������		� �

 $& ��� ��� ..� ◦C� >�'� ��" ���	�,��� "���

��� =�'��'��'�	 �����
 
��D�
��
	 ��
���� ��� ���'����4���� ,���'�	��� "�	

����
 ����
 %�� .� ��� �" :����������
 �
����	� �" ����	�%�5�
���
��6 ����

��� ����'�	�	�� ,�
��'�� ��� =�'�� ��
��� ��� ��
  �	��'����� ��	��
�	� ���

 �	��'���
�3���� ��
�� �8 E*� :12 �������	�	� ���  �	��'���������	 ��	
)�	



��

UV - Strahlung

Maske

Substrat

Photolack

Positiv Prozess Negativ Prozess

Belichtung

Entwicklung

Belacken

Ätzen Metallisierung

Lift-OffStrippen

�������	
 ���
 ������ ��� ��	���	�	 ��������������� ����� �������� �����
���

����

�� ���� ����� ��� �� ��	 ��	 ������� �������!� �	 ��	 "�	��	 �	� 
���������

��
 ��� ��� ���� �	 ��	 ����������	 ������	 #����� 	��
 �	�$��	�� %��&�� ��	

��� %	�'�����	
����� '����	 ��� "�	��	 (����� �	� ��	 �������� ��� ��$�



��

�������	
����
 ��
� �����
��
� 
������
 ��� ���� ��� ��� ��	��
	��������

�
� ��� ��� ��� ����	��������� �	����� ��
 ����
 ��� ����� �
� ��� ����

��� ���	
��� �
 ���� 
��� ���� ������� �� ! "������ ��� #�����	�� ��� �


��
 ���� $��� ����
 ������ ���� ����� ���������� 
�
 ��� % 
����� &���

��
�� ! #����$� ���� ��
� % 
����
� �� �	���
��
 '�� �
� ����
 ����� ��� (

H2O2(32%) : H2SO4(98%) : H2O �� ��
�� �	����
&����� 
�� &	
 )(�()**!

+�� % 
�� � �� ��� ��! ) 
�,�� ���� �� -��	�� .������ �� ��� ���� � ���

&	
 ��� /	

�
 �� �	
 ��� H2O2 ����
���! 0� &���������� '������� 
� ������

 �
 �
 ��
�
 ��� 1+23 
��� ���� �4�� ��� � ����� ���� �
� ��� % 

�� �	

������ � ���� ��� 5�� �
� ��� 1+23 &	
 ��� 6�������� �
 "�
	�� �� ���

% 

�� �
 7���
��
 �
 ������ ! "������ 
�
 ��� #�����	�� ��� ��8
��� ����

��� �	�� ��
 9��
���
�������  
�� 2
 ���
�
� ��� ����� &	
 ��� 6��������!

+�

 ���	�� ��
 ��� ���� 	� ������ �� �	��������7����  
�� #��� ����
� ���

6������
 /	
 �� �! +�
� ���� 
��� ��� �� �	������� ��
� 7����� �	��� ���

5�,3� �� �� �� �����
 ������ 
�� :��()1; �
� ��
�� ��������<�
��
 5��7����� 

��  ���  ���������� ���������
� �
 ��
�� 2��� �	
�
� ����&��������� :'6=

2������ 5� 	>**; ���������� ! "��� ��
�� ��� �6?�7����  ��� ��� ��� ����

�
� ��� ���$��������
�� @� ���8�� �
 ���
 ������ ���� ��� ��	�� �
 ��
��

2���
����6��
 A* ��� ��
� ��� ��
� .������ �� &	
 ��! 400◦C ������� ! +��

����� ��?�
���� ��� 3� �
 ��� ����
 �������
�� @� ����� �
� �	 ��� ������ 

��� ����
 �������
�� 7��� �� �
� � ��� ��
�
 6������
 /	
 �� 
�� 1+23

���!

����� ����	
 ����
���
 ��
���
��

"������ �� &	�������
 5����
�  ��� ��	�� �� ��
�� #����3�	�� ��� &�����

��
 �
� ��� 1+23 �	
 �� ��� ������ �	�� 
�
 ��� 7 ��� ������
���� �	��

��� �	����
 �
	������
 64��� �	
 ������ ��� �����
! @� ��� '����? ��� �
�

	������
 64��� �	
 ��
����
� ��
 ��������
 ��� ��
�
 ��
 ��� 6��������

&	
 #������ ��
 	��� @� ����
 :
!'! .� �
 	��� 5����
���; 	4����� ! #���
�

���� ��� '�� ��� �
 ��
�
 2��� �	�B �
 �� ���� �
� ��
$����� ��
�� /� �	��

��� ��
 �	�� �&�� �	 �
 ��� ����� :����� 5��! �!� :�;;! +������ 8
�� �	���
��



��

K
a

th
o

d
e

A
n

o
d

e

(G
a

A
s
)

Elektrolyt

(Wasser)

OH-

G
a

(A
s
)O

x

(a) (b)

2 DEG

Ga(As)Ox

VSpitze

GaAs

Wasserfilm

AFM-Spitze

(c)

AlGaAs

V

(d)

�������	
 ���� 
�� ������ ��� �	�������	 ��������	 ��	 ���������	� �
��

�� !� 
�� "#���� �$%&"'���� (��� ��	�) *���&"������� �	� ��� ������ �����&

�����	�� ��������	� �
�� �� !� 
�� +��������	
 ��� "���������
�	
� ��� ,��� ��-!�


�� �$%&.��� ��	�� )�� ��#���	 �	�������	 ��������	 
���������	�	 /��	��	&

������� ��� ��� ��������� ��	�� *���&��*���&0��������#��� �	 ��� %����

��	�� 0���#�������

���)����� ,��#���	 ����� ��1!

2GaAs+ 12h+ + 10H2O =⇒ Ga2O3 + As2O3 + 4H2O + 12H+ 
�� �

$(� ��� ��#��� �	������� ��������	 2��� 	�	 ��� 3������ ����� ��	� ������&

��
� �$%&"'���� �������� +�� ��������	�� $����� 
�	���� ������ ��� ���������

��� *���&��*���&0���������#��� ���� +�� 4��#����5� ��� ������� ��	 	��(���&

���� 6�����7�)8 ��� ���� ��� ��������	 9����������
#����	 �) .������ ��	 1-&:-

;8 ��� ��� ��������� ��� <���� ������� =5'������2���� ��� ��� 6�����7�) 	��

��	�
� >�	�)���� ���#� 4�	� "#���� ������ 3�	7
������	 ��� �	 ���� ��� 
��

�� ����	� ?) *�
�	���� ��� ���	 ����������	�	 %������8 
��@�����
 �� ���&

�����	8 2��� ���� 	�� �	 	������� >��� ��� �$%&"'���� ��� *��� ���������



��

�������	
�	��	 	
��
� ���� 
	� 	��	
 ���	 �	
 ��������	 ��� ��� �� � �� �� 	��	

�����	
	 �
	��	 �	
  ���	� ��� ��� ��� ��� !"
�� ��	 ��������� �	
 �
	
#$��	

��
� ��	  ��"����
$�	
�����	 �	� ��
"��	
��	�	��	 %�	&�
��	���� 
	�"'�	
��

�	� �	�	
���
"&�"
	� ��� ����� �	�
 ��	( ��	�	��	� %�	&�
��	����	� )���� �����

��� �%*��+ &��� 	��	 ������$����	 ,	
�
�"�� 	

	���� �	
�	� -../ .01� !�	�

��� �"�� 	��	
 �	
 ������	
	��	� 2�&��
	�/ �	�� ��	 ���	 �	
 ��������	� &���

�"
 
�� '" 	��	� �	����	� 3
�� 4
	
 	��	 ���	
	 ���	�	��	 5����"�� 	

	����

�	
�	�� %��	 ��������	����	 ��� ��� �� �� 4
	
 	��	 �$��	
	 5�
	�&	 ��� �	
��	

���� '"�	
�$���� �������� !��� (4
 	��	 ��
����	
�	 ,	
�
�"�� �����	/ �"(�
"��

��� 
���	
��	� %
(��
"��/ ��� �!%3 ����� ��	(	
 ��� 6� �� ��	�	�� *�� �	


%
���"�� �	
 ��������	� 	���	
�	�	�� ��� ���4
���� �"�� 	��	 ,	


	��	
"��

�	
  ���	�/ ��
"��	
 ��	 �������	 5�
"&�"
�
�7	 �	��	�� !�	 8
	
�
��"�� 	��

�	
 5�
"&�"
 �"( ��	 �
	
#$��	 �	
 9
�
	 	
(����/ ���	� ��	 :2*�5���'	 �"(

	��	� ��
�	;��	
�	� <	� ��������� 	��&� 	������
	�	�� ��
�/ �$�
	�� 	��	

5����"�� '�����	� 9
�
	 "�� 5���'	 ���	�	�� ��
�� !�	 5����"�� 
	�
$��

�������	
�	��	 '�����	� ��� � �0� ,� !�	�	 9��������	
"����	��"��&	�� �"
�

�	 �� ��	�	� 2��� �"
�� �	� %�����' 	��	� ��	'�	��	� =4�&&���	��=	�	�&
	��	�

)����	��(		�
��&�����+ �	� :2* 	

	����� <$�
	�� �	� 5��
	�
��
����� �"
�	

�	
 5���'	��9
�
	��:
����� �� ������� *��"� �����	
	�	��� !�	 %
'	"�"��

"�� =	�	�"�� �	� <���	
;��� �"( �	
 �
	
#$��	 (��� �"
�� 	��	 :����	/

�	���	 ��	  "(�(	"�����&	�� �� �	
 >���	
 "� ��� :2* 
	�	��/ ������ !�	

3	���������&	��	� ��� �	�	� ��	 5���'	 4
	
 ��	 9
�
	 �	(4�
� �"
�	/ ��	�	�

�� �	
	��� �� � ��� ��?�� !�
	� ��� ���� �	'	���/ ���� ��	 5��
	�
�	�������

���&	�� �"�� 	�� 2�&��
 ��� �	
 ��	 ���	 "�� 3�	����$7��&	�� �	
 ��������	�

&
������ 
		��#"���� %��	 ���	�������	 !�
��	��"�� �	� 5��
	�
�
�'	��	� ��� ��

:

� .�. )�+ '" �	�	�� !�� :2*����� 	��	� (	
���	� @"���	��"�&�&����&�� ���

�� .�. )�+ '" �	�	�� ��	

	� �"
�	 �"
�� ��	 ��������	� �	
	���	 �	
 ���� 
�


�
�	�
	���/ ���"
�� ��	 %�	&�
��	� ��� �! �	
	��� �	
 ���� 
�
 �"
�� ��	

%����	��	 ��� ��� ��  $��	 "�� 0�� �� �
	��	 �	'�"��	� �	
�	�� A����	�

��	 ��������	� �	���
�	
	� �"
�	�/ &��� ��� �"� �"
�� 	�� &"
'	� %����"�

��	� )B � �	&+ �� 5��'�$"
	 )�C�+ ��� ���� ��
	&� ��	�	
 	��(	
�	�� !�
	�

'	��� ����/ ���� 3
$
	� ��� $������	
 ��	(	 ��	 '"��
 ��	 ���	 �	
 ��������	�

	����	�	� -.01� !�	�	 �	�����"�� ���� 	��	 %
���"�� �	
 !
"��

"�������"��

'"
 2���	 ��
	� -6�1� :
�����	7	�� ���� ���� 	�� ,	
��	��� �	
 ,�
� "�� A����



��

����� ������	�
 ����
 ����
�� 
�
����
��
����������� ��
 �����
������
����

������
������ ��� �� ��������� �	������� 	�������� ��
�� �
������� ��� ���
�


��
���� ��
 ���� �����
����� ��� �����
���� ��� �!���������� ��
��� ���� ���


��
��	�� ����
 
�
����
 ��� �
��	��� "� ����
������ ��� ����	��������� ���

��
� ����"�	����
�� #�� $����� %
�	������ ��� "�#� ����
 ����� �������� �����

 ���� �� &�'�
�� #�
���� ��
 
�
����
 �������� ����  ���� ����"����
��	���

��� ����� ���� ��
	����
��� �!������ ���� ��� ��� �(���� %���������
��� $��


�
����
�� 	�"������ ����� $�
�������� 
�
����
�� ��� �!������ ���� 
�
���

��
�
!'� $�� ����
 �)) �� ��� �	���� ��� "� 
�������
��� *�� +�������� ����

,������ ���� ���� 
�
����
 ����
 ���
 ���
� $�� ��
 $�
�������� 
���"� ���

��
 -	�
.&��� �	�&���� ����� ��� /��
���"��
	�
���� ����� ���
 ��� ���� ����

���� ���� �����
��	��� 
�
����
 ����� �����
 �����
�� ��
���� ���� ��� ��"���

��
 ��
����� ��� ��������

����� �����	
�����	
������
�	
����

Substrat

e-beam Lack

Primär Elektronen

Auger + Röntgen

SE + BSE

CH2

CH3

C

C O

CH3

O

CH2

CH3

C

C O

CH3

O

CH2

CH3

C

C O

CH3

O

hn

CH2

CH3

C

C O

CH3

O

CH2

CH3

C

C O

CH3

O

CH2

CH3

C

C O

CH3

O

+ + +

PMMA - 

Polymer

(a) (b)

�		������ 0�12 3�4 
��""� ��
 ���������� $�
���������
 /�����
����� 	�� ��


�
 � ���� 50�6 3	4 ����������� ��� %����%��7��
 ��
�� 
�
�������

+��� ��
 �
"������ ��
 +�����
����
 ��� ��
 ���� �����
����� ������

��� %
�"������
����� ������ ��� �����
������
���������
����� 3�
 4 $�
����

���� *�"� ��
� ��
 ��������
�� �����
������
��� ����� /����
�����
�������

�
������ $�
������� �� ��� -	�
.&��� ����� 
�	��
���� ������� ��� �����

�����
������
�����������$��  ��� 3"�#� %���4 	������ ��
��� �	"�
����
��

*�	�� ��������� $�
��������� �
��� $�� 
�
������ 3����� �		� 0�14� *�
��

��� �����
���� ��
� ��
  ��� �������� $�
&���
�� 	�� %��� 	������� ����



��

��� ����	�
��� ��	 
����������� ��
���
� ������ ���� ��� ����� ����
� ���� ��

����� �����
�
�����
�	��� ��� ����� � �������
 ����	��� ��	 � ��	�� � �
�
�!

���� ��	 ������	�
����� "����� ��� ���
�	������ #�	����	 �� ��� ��
� ���	�	�!

��� ��	���� ��� ��$�	����	��� #�	����	 ��	� $�%�	 ��� ����� &��!'	��	���

�	���

�( ����	
� �� )�������$ $�	 �*���
��� ������	�*��� ��� ����	 &�	��!

�����( ��

�� ��	��
�	����� ������ +��� ,�	���

����$��� ��� ����( ��	 -��� .�!


�
����� ���� ����%����

� #�	����	 � �
�
� ���� ��� ��/ ���� ��� ��	 �#� ��	�

���*��0
�
�
� ��	
� ��
����� '�	�����	 ��������1 #�	��
��	
������	 �≈2(3

���( 4�����������
������ �'���1 52 ���( �����
�
����%�	���	�� ��� #��!

��	��������
������� ��� �����	�	 �6��� ��	 �0�7� ��	�
���
����� ��	��� ����

��� ��	 '	�8����9�6���� .�� ��� '	�8����9�6����� ����	�
������ ��� $���
���

:��	�! ��� :���	!'	�8����9�6������ .��� :��	�!'	�8����9�6��� ���� �� ���!

�	����( ���� ��� �
����� #�	����	�� ��� �����( ��

�� ��� �	 ;�	�� #�	����	��

$�� ��	
������
��
� ���	��
��( $� ��	��� ��� ��� ����� �������	 ��� #�	����	

�
����	 ��	� �
� ������
�� ���	 ����	 ��
� ���� 4���
�
��
��
�� ��� ��	 #��!

��	�����	/0
�� $�	�
��
����� .��� :���	!'	�8����9�6��� �����	�� �����/��!

��� ��
� ���� ����������	
������� #�	����	��( ��

�� ��� .�	��
� ��$���
���(

��	 ����
�
���� ���� ��

��( ��
� ��
� ��
�
����� ����� �6���� � ���� -���
� $�

����� �	�;�� +��
 ��	
� ����	��
�� #���
������� ������!&�	
�!#���
��������

��� #�	��
�( ��� ��
�� ��� ��� #����	��� ���	 ��� ���*�����	� ��	���( �����

��� ����� �� ��� -����
���� .�	��
��� ����*	�
���� ����*���� ��	����

����� ����	
	�
 �
� ����
��
��������� ���	��	��� �	���

����������� ����������

��� ��		���������
��� ����	��
���( ��� $�	 ������
 ������� ��� �������� ��	!

��� ���� <�
��
( "���
�( )���
����� ��� �9�*	������ <�
��
 ��� "���
� ����

=��	���������

� ��� ����� ��� 4������*�	���	 �
��� ��		���������
�� ��!

����
������� ����	
� ���� ���	��� �
��� ��� ������� ��	 �������
!>�	
�!

��
	��
�*9 $�	 >�
�
��	����	����	��� ��������$� ��	��� ������ "�*���
 3�5��

��� #0������������������	����� ���	���� 5�2 + �<�� ��� 5�? + �&��� ��� @�	!

���*��������*�	���	�� ��� ����� �	�
� %�� �� .�	��
� %�� 10−6 mbar ��!

�	���� 1072◦C �<�� ��� 990◦C �&��� ��� �	$������ ��� >�
�� �	��
��� ���	���

�� ����� @��������
��
�������9���� �.A& ����	�� ����322� ��� �����



��

��������	
 ��
 5 × 10−7 mbar� �� ����� ��
 ���
���
�
���������������� ���


����� ������
��� �
� ���������� ��
� �����
� ����
� �� ������� ��
� ������

���������� ��
  !"�#$ % & �'� �� ������� ��
� ���������������� ��
 #($�#$

% & �'� �� ��� �������� ��� ���������������� ������)
����	�� �� ��� �����

���� ��� ���������������� �
���������)
����	�� ��� *+���)�
)���)
��������
�

)�
 �����)�
  �, � -��. �
� ��/$ � -��.� ��� 0��������
)������������
 ���

��
�� ���	
 ��
 �� �����	� ��
 10−6 mbar �����)�
 900◦C -��. �
� 750◦C

-��.� ��� �����)�
) ��� 1���� �����)�� ������� �
 ��
�� 0�
������	��	��

��
)������� -��)�
��� ��� 223. ��� ��
�� ��������	
 ��
 1 × 10−7 mbar�

�� ����� ��� ��
�� 4�������*	��5	��
 �������	� ���������� 6��� ���� ���)��

�7����
 8���������
 �9������
 �
 :���; ������� ��
� ����	
�
) ���� ��� ��
��

*	��	�� �� �
� 6� 
����
��) ���� <� ��������*����� �����)�� ���� �
����� 
�	�

��� 0��������
) ��
 =� ���� ��� ��� �� �
� �� ������
 ��� >����
 ������

��� ��� *����� )�
����
 �����
 �
� ��
�	� �� ��������*����� ����	
�

�����
�

����� ����	

�������� 
����

=�	���� ���� >����������
)�	������ ��� 2��������
) ��� )��7
�	���
 *���
���

��)��	������
 ��
� -����� 6��� ��$ -�..; ���� ��� >���� �
 ��
�
 ������������

��
)�
���� �
� �� �����
 ��� ��
�� �������
��� -1�� �������
. ������+���

��
 ��
 ?���	��
 %�
��
��
 ��� >���� �� ��
 %�
��
�@+	��
 ��� �����

�������� )���)�
 -����� 6��� ��$ -	..�

(a) (b)

2 μm

Oxidlinien
2DEG

(c)

Dysprosium-Film

6������
) ��$A -�. :�	����
���
���6��
���� ��� 2������������� ��� ?���

�	��
 %�
��
��
� -�. *�8�6��
���� ��� 8�
������
��� ��� ��� 2��� ���� -	.

1���)��B� ��
�� �����))��������
 >����; ���	�� ��
)�
���� �
� )���
��� ������



��

��� ������	
��

TQ = 0.86 K

x = 0.67

��������� 	
�� 
������������� 3He�4He
 ��� ���
 �	��

�� ��� ����� ������������  !�"#� ������ �� "$����% ��# �� ��#&����� ���


���� ��� #����� '������#���� ��������� �� �����
 (��� ���  ��"#�����#��)

����#�� �� ��� *�$+��������� ��� #,�������  �������"��� ���  !�"#� �� ��#��)

����#�� -,�#��� ����#% ���� &��� ������  !�"# #�������� ����������# ��� ��#

����# ���� �� �������#��
 .��  �������"��� ��� -,�#���% ��� ���� ��#������#

&�����% ����# ����# �� /������ &������ ��0
 .���� ��#������# � ��0 �����

'������#�� ��� ��
 �1 2
 /�� ���  �������� #����� '������#���� &��� ����#

3����� ���&����#% ������� ������ ��� ��� ����  ���������#�� ������  �����#�

4���
 �	��5


����� ����	
��
���	 ��
 ��

���	 ������


3����� ��# ��� ���  �������� #����� '������#���� ��� ���+�� /����#���% ��

�� ���� ��� ��� "�����#�� ������������ '������#���� 4&��# ��#������ ��� �

�25 ��� 6���������" ���� 78���� �����#
 .�� *���� ��# ��� ���� ���&����

(������&��"��� �&������ ��������� 3������#����
 .�� (��#���� ��# �� ���

�����#��#��  ������"���
 .������ �#���# ��� ��� 0�����#����� ���$#��#�  ���)

���
  � ���# 9����� ���� 28����#�����% ��� ����� 3����� �� ���#�� :��#���



��

��������� �	�� 
�	��� 
������������������� ���	�� ��	��	��� 	� ���	 ���������

��� ����� 4He ��� ���  ���	�� 3He� 4He �	�� !"��	# ��������$ ��� %�& '

$�	 ( ���� )	� ���	��� 
�����"$��#��# �	� *���	����	��� ��� �����)	����	��

'��������	�� +���� $�	 �	��� ,��������� ��� &�(- ' 
$�	 ( ���� ������ .�$��

��� ��� ������� 	������������ )	#������/��� �	���� �����!�	��� 
���� 	�� �	�

�	�� ������������� ���� 3He�0���� �	�� 	� �	���� 
���� �	� �	� 	������  ���	�

1�� ���������� 3He ��� �	�� ���� #��	�#��� 2�������� ��� 4He ��� ���	� �	��

���� �3���� .�������������#	�� 4	� !"��	#� 
���� $�#	��� $�	 5�& '� 6	�� ���

�	�� 7	���� ��� 3He/4He�0����� ����� �	�� ,��������� ��� 8�9: ' #�$������

$	���� �	�� ���	 !"��	#� 
����� ���� ��� �	��� �	�� 3He���	��� ��� ��� ���

����� �	�� 3He�����  �"��	#��	�� �	� ��� #�3;��� ,�	� ��� 4He $������� 4	�
3He���	���  �"��	#��	� $�+���� �	�� ��/#���� ��� #��	�#���� 4	���� ��� 3He

��/ ��� 3He������  �"��	#��	�� �� 0$$� 5�: 	�� �	�� ���� 	� 
������	�#����

��� 7	���� ���#�������� 4�$�	 ������ ��� /���� ���� ���� $�	 �	������� ,���

��������� �	� '���������	�� ��� 3He �	����� ����� :�: < /=���� 4	���� )>���

���� ����� ��� /���	��	����� ?�������� ��� 3He ����=�� ������� )���#��	���

#"���	#�� /"� �	� 3He�0���� 	�� ��� ���� �	� �	�� 	� ��� 4He�
���� $�+�����

�� �	� �	��$�	 �	����� #������ ������ �3����� 4� �	�� ��� 3He @����� ����

�	� �	� 	������  ���	�1�� ����=��� �"���� �	��$�	 �	� �����$��� ����=��� ��/�

#���� ��� 
���	�
�	��	�� $������ ������� 0$ �	��� #��	���� '���������	�� 	��

�	� �	����#�����#	� �	��� 3He�0���� 	� ��� ����"����� 
���� ��#�#�	���� ��

@��� 	� ��� ��������	����� 
���� ��� �� ��	�� �	�� A=��	#��# ��� '���������	��

�	� B��C�

����� �����	
��
����������

�� 2����� �	���� 0�$�	� ����� /"� 7�����#�� 	� ,���������$��	�� , D (�%

' � 588 ' �	� E������/��#���F����� ���  	��� G�/��� ����������� �������

���� 4�� �������	���� 0�/$�� ��� '�F������� 	�� 	� 0$$� 5�- 
�� ���#��������

�� ��� 7	��� ��� '�F������� $�+���� �	�� �	� 
��$��������� �� ��� �	� �	���

E���������� #������ �	��� 4���� �	� .��������	� �� ����� ��� '�����

���� !"��	#�� 4He ��� ��� ���	������ 	� �	� '����� #������� ������� 4��

���	������ ��� �	� 
��$�������� �	�� ����� �	� E����� �����	��� ����	��

����� ����������� 4���� ����	��	���	���� 
����� �� ��� '����� ��� �����

2�#����# ���  ������ ��� ��� ���	������ ���� ����� )�����	����"����# �	��



��

(a) (b)

��������	 
��
 ��� ������ ��� ����������� ��� ���� �
��� ���  ��� ��� ��������!

��� "�����#������� ��� ���� �
$��

%�&'������ (�� &��������� ��) � ���������� *��� ��� ���	������� %�&'���!

���+����������� �����,#� +������ -& ��� %�&'������ �� ��� "�������&&�� ��

��#.#�� ��/���� ��,# ��,# 0������&��� �� ��� ��&&��� 1�� +������� �#��&�!

�,#�� ���,#��&��	 ���� ��,# ���� 2����&��&&�� �& ��� 0����&���� ���

��� 34���	!���,����5!���,#��&���� (������� 6�� "���� ��/���� ��,# �� ����&

7#�'!7������!��,���8 ��� &�,#����,# �& ���� �,#�� ������� +����� ���� ����#�

���� 
�� ����� 0������ ��� ��� 7#�'!7������!��,��� &�� ����& 1�#���� (����#��8

+��,#�� �� ��� +������� 1�#���� ��,#��,��� 	������ 6���� �,#��,�� ���� 4���

����� 9���������8 +��,#�� ��,# ��:�� 	��4#�� ���8 ��+�	� +����� ��� ��&��

��� "���� ��������� 6�� ������� ���� &�� 0���� ����� �,#����&����� 4��� �����

7�&'���� ��	�������� +������ 6�� "���� ��/���� ��,# �� ��� 9���� ����� ��!

'����������� 9�	�����8 ��� ��� ;��� (�� ��� �� < % �����	�� ����� 6�� 9�	���

��/���� ��,# �& 0����&����� 6��,# ��� ������� ���� ��� "���� ���4	��,# �#!

��� �����,#���	 	�	��4��� ��& 9�	������� �+��,#�� '������� ��� ������,#�

���	������� +������



��

����� �����	
���
	����	���

Mixing chamber

5 mK

50 mK

600 mK

3 K

50 K

300 K

Sintered

heat-exchanger

Heater

Still

Impedance

Joule-Thomson heat-exchanger

to Pulse-tube cooler to Gas handling system

O
u

te
r 

V
a

c
u

u
m

 C
h

a
m

b
e

r

In
n

e
r 

V
a

c
u

u
m

 C
h

a
m

b
e

r

3
H

e
 r

e
tu

rn

��������	 
��
 ������ ��� ������� ��� ����������� ����������	�����������

��� �����  ����� !���	������ ��� "��� #$%&�

'��� ����������	����������� (��	�� �������� �����	������) ���� ��� �����

���*������� ��	�������� ����� 3He+4He,-������	. ���� ���� ���� ����� /��,

���������� ��� 0�0 1 �� ��� ����2����� 3He,3���� ���������. ���	������� 4���

��� ��� 3He,���� ��� ��� �������������� �� ��� ����2���� 3���� 2���	���.

���� ���� ���	���� ��� �5����� �����*�� �� ��� ����2����� 3���� ��� 6�,

	����	 ������� 47��� �����	��� 8�� 3He,���� ���� ��� ��� ��� ����2��,

��� 3���� ���	���� ������ �5����� 8��*������� ��	�*��*� ��� ������ ��

��� ������������� 3���� 	������� ������� 8������ �������� ��� 	������������

/2������������ 8�� ���������� 6�������	 ������ /2��*�����*� ��� �� ���� 
��

���	�������� 9������ ������� �� ���� �� ��� ������ ��� �����  ����� !���,
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����� ����� ��47 ��� �"�	�� �������� $��� ������� ��� �������������� ����

%���� ���� �� �$	
���� 8���	
����� ���� ���� ����������� ���� $������ 4�

�
	�� ���� 8���	
�� ��� 1% $���(���	�����MR2DEG� �� /�	������ %
 ����	

8���	
�� ��� ������	 ��� 0.4% �� (���	����� ��� �	����� MRCo $��$���*

���� 4��� �����	� /�	$����	
�� ��	� �,������ ����� ���� 9���	���	
��
	 ���

����� ��	����	�� '$����� ��� ��47 %
	 :$�	-���� ��	������ ��	� 
�� ����

'�����
�� ��� /�	���������� %������� ��� �	��� 
�� ��� 9��� $�	*!	�����

������� ��	��
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������� ������ ���� �� ���� ������ 
�
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x

y

d

RDMB

B

m0M

ferro-

magnetischer 

Film

ISD

(a) (b)

S D


�������� 1�23 *�0 
�%��
	� 	�� ��	 ������
�� !�"���"�� ��� '���� 	��

��������������� 	�� .� #����
������� 
���&���� d� *�0 4"���� ��� '��������5

	����� ��� !������ ����� 	��������
�� ������5���������

�6� ��� �7����	��� ����� ���� ��
�58���������"��� 	�� ����	 
������

#�� 150 nm ��� ���� ��� 9���:&�
� ��� 8���������"��� #��������� ��� 8���5

������"��� ����� #�� ;� '���� ��� 8� ;� 4�
�
	��
�� �� ��� '�� �� �����5

��
���� 
����������� ��� ���
�� ��� ��� !������&� ��� ���"����������� �����5

��� n = 2 × 1015 m−2 ��� μ = 347m2/Vs ��� ����� ��	������� #�� � ;

�	 ��������
����� <������� ����
 ������
� =��
�����
�� ��� �����
�	���
��

>���� ����� ���� 8���5���	����� ��� ���� 6���������� ��� ;����"�������

��� ���� ��%����� ����
 ����� �������� =��
�����
����
���� ��� ������������

��� ��#�� ��%����	�%��� 
�?��� �����
 %����� ��� �4=54�
���� ��� ��� 
�%5
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d (μm)

D
R

D
M

B
 (
W

)

T = 34 K

T = 10 K

T = 1.4 K

2 x DRMB 

�������	
 ���
 �����	
 ��� ��������	��������	��� ΔR ��� ��	����	 ��� ����

�����	�����	��� d ��� ����������	�	 �����������	�

d (μm)

D
R

D
M

B
 (
W

)

2 x DRMB 

n2 = 2.5 x 1015 m-2 

μ = 496 m2/Vs 

le = 41.1 μm 

t = 189 ps 

n2 = 2 x 1015 m-2 

μ = 347 m2/Vs 

le = 25.6 μm 

t = 132 ps 

�������	
 �� 
 �����	
 ��� ��������	��������	��� ΔR ��� ��	����	 ��� ����

�����	�����	��� d �� �	�����������	 �	� �����������	 ����� !�� ����������

��
 ��� "�� #�

����$������� %�� !��������	 ��� $������
	�������	 ����� ��� "& �	����������

�����	 ����'	�� %������	 ��	 �����	� !�� 
�	%� (��� ��� ����� %�� )������

	��� ��� ��	�� *�+������� �������, ��� ��� ��� 
��� $-� ��� &!./ ���	�� 0	

���� ��� ��� ��	 ���� ��� $����
�	 1���� ��
�������� !�� (������ ����� ���%����
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d = 6 μm
d = 7 μm
d = 0.5 μm

B (T)

R
D

M
B
 (
W

)

�������	
 ���
 �����	
 ��� ��������	��������	��� RDMB ��� ��	����	 ���

�����	�	 ���������	 ��
	������ B �� �����������	 ���� ���  ���������	� ���!

�����	����"	��� #�� $��������� ��
 ��� %�& '�

d (μm)

D
R

D
M

B
 (
W

)

2 x DRMB 

μ
0
M = 0.5 T

μ
0
M = 1.2 T

μ
0
M = 1.7 T

μ
0
M = 2.1 T

μ
0
M > 1.177 T : MB geschlossen

�������	
 ��(
 �����	
 ��� ��������	��������	��� ΔR ��� ��	����	 ��� ���!

�����	�����	��� d ���  ���������	�	 )����	 ��� ��
	��������	
 ��� ����� μ0M

�� �	�����������	 ����� #�� $��������� ��
 ��� %�& '�

����	
���	� �	
������* ���� �+
������  ���� #�������������	 ���  ���������!

	�	 ����"	��	 ��� ��	�� ,����  ����	� �����	� -	 ��	��  ������
�	 ,����	�����

����� ��� .���	 �����	� ��	� �������� ,���� ���
�������� #��� �������� /��
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&�������� ��� ��� !�''����������� ����� ���� ��� (������ ��� ����� "����)

���� ���
����� �� *���������������� �����%�
����� ��� ��� ��������������

��� ����
���
���� +����
���� ���� (�������� ��� ����� !,)-��� %� ��

���

!�� (����� ��� *��� ��� ����$�� W = 25μm ��� ��� .�
�$��� ��� 	���� %���)

�� &������� �������� ��� L = 35 − 130μm� !�� 	�

����� ��
������ ���� ��

#�����'
���
��,�
����� /
���� &�'���� 0� � 1 ��� 2��'�������� ��� 2 3 4�5

) 05 &� !�� !���� ������ �� %��� .�����%,���� �� ����� ����� ��
���������

�
 ����� ��� .6)7���� ��� 89) 99 �. ��� ����� -��:���% ��� 4;�; *% ���)

������� !�� 7���� ����� ��� 7 ���� ! ��
������ /
���� .��� 8�5 /�11 ��� ���
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�
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 ��
 +����
�����
 ��� ����� 7$������� ��� � 2 ��� ��)

��� 	������ ���� +��� ��
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 ���� @����� $����� 
��� ��� !�A����% %��
���� ��� ��
����
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(������ /��� � 21 ��� ��� �A���� (������ /���� &���%����
���1 ���$���� ���

(����������
����� !��
�� ��
��������� ���� �� .��� 8�� �����
������ �
 ����

��� !�A����% ��� +����
�$��� ΔRDMB = Rmax,6T −Rmin,0.6T ��
 -������� ��
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�
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(����������
�$���� /d = 1und 6μm1 ������ 	�>��� �������� ��� $�������
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�
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��� "!�0 1�&����
�� /�&������� 
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������
�� ΔR ���

2������� 
�� ���������� ����
�� d �3� ����
���
��� 2��&&���������������

μ0M ! ��� 4��!56�7!

	�� ��&����
��� /�&���������  ������ ��� 
�& ��&��������
��� /�&������

���,�����&& ��� 8	 	�! (���� 9��
��' ������ ��,���� :!:!6$ ��
 ���
�� �&

4��&�� 
�� (������� ��� ��� ;�
�� 9������ 
��
����3���! 	�� ������
����

8���&���� ����� ���� �� ���� 	�
��� ��� n2 = 2.45× 1015 m−2� ���� (� ������

��� μ = 30m2/Vs� ���� &������� ����� )������� ��� le = 3μm� ���� <��� ���

 ����� ��� W = 10μm ��
 ��� � ����
 
�� �����&�������
��� 2��&� &�� �����

	�
�� h = 250 nm '�& :	*= ��� d = 65 nm! 	�� 	��
��/����'��� ���
� ���

τ = 10.4 ps ������&&��! 	�� ������
���� 8���&���� ���
�� ��� 
�� ����

��� 8�� ������� 3 ����&&��! 	�� *��� ����� 
�� /�&������� ���
 �� �  ! "!�



��

�������	
 ��
�� ���������� ���������	 ��� ��������	��������	��� ΔR ���

��	����	 ��� ��������	�����	��� d � � !���������	� �����"����	 τq� ���

#���$
�%�

�������	
 ��

� ���""� "�� &���'��	
 ��� ����������	
��(���� ��� &������	�	

��� )�**����������	� ��� #���$
�%�

"� ����	� +�� ��	�	 ����� ��� &	�������	
 ��� ,�������	��� ΔR ��� ��	�-

���	 ��� �����	��� ���
����
�	. ��� ���� � � !���������	� /�
	��������	
�	

��� �������
	�������	 ������ )�� �0���� ����� ��� ����������� �	
�	����	�

)���� ���������� ��	 ������ /�1��� �	� /�	��� �� 2��!�	!������� )��-

�� !�������	��	 ��	��	��������. ��		 ��	 ��� /�
	��������	
 ��	��� ��	 ����

3����� 	�� ��� 2��!�	!������ ��� ��� �4�����	 ���
��������	 /�
	��������	


5μ0M = 1.5T6 ���������� �����	� ��� "�� /�������	
 
 ��� ��	 ��	����� �	-

����
 ��� ,�������	�� ��� 
�47�� �����	��� �����	� � "� ����	� )��� ����'��

���� �������. ���� ��� ��������	 ���� �	 ������ ������� ���� ����� 
�
�	���-

��
 �������	� �� 8�	�� 
 3����� ��� ��	 ������� /�1���� "� ����	. �������
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